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Q.1 Inthe following question. select the figure which can be placed at the sign of question mark (?) from the given
alternatives.
mx % [X % 5][% 5>
AX 5| (mAM |X mA
Ans
o 1.
% X 1
X 2
% X 1l
< 3.
% X
X 4
% X Il

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330191524
264330749453
264330749452
264330749451
264330749450
Answered

1
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How iz E related 10 C?

Ans X 1. Father

« 2. Husband's mother

X 3. Husband's father

Q.2  Ads the mother of B, B is the sister of C. C is the wife of D. D is the son of E. E is the wife of F. F is the brother of G.

X 4. Mother
Question ID : 264330187386
Option 1 ID : 264330733475
Option 2 ID : 264330733472
Option 3 ID : 264330733473
Option 4 ID : 264330733474
Status : Answered
Chosen Option : 2
Q3 Arrange the given words in the sequence in which they occur in the dictionary.
1. Dire
2. Dirt
3. Ditk
4. Direct
5. Dirge
Al
ns X 1. 3,2,54,1
2 14532
X3 1.4.5.2.3
X4 32514
Question ID : 264330191350
Option 1 ID : 264330748757
Option 2 ID : 264330748755
Option 3 ID : 264330748754
Option 4 ID : 264330748756
Status : Answered
Chosen Option : 2
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alternatives.
-4
4 -4
Ans
4
K1 =
X 2. 4
4

W 3 | e

- 4
&~ 4.

Q.4 Inthe following question. select the figure which can be placed at the sign of question mark (7) from the given

Question ID : 264330190262

Option 1 ID : 264330744632

Option 2 ID : 264330744633

Option 3 ID : 264330744631

Option 4 ID : 264330744630

Status : Answered
Chosen Option : 3
Q.5 EightgirlsA B.C.D,E, F GandH are sitting around a circular table facing rowards the centre (not necessarily in the
same order). A is second to the left of D. D is third to the left of E. C is third to the right of G. G is not the inmediate
neighbour of E. H is third to the right of B. B is second ro the right of G. Who iz sitting on the immediate right of F?

Ans X 1 C
s2 A
X3 FE
X4 D

Question ID : 264330190436

Option 1 ID : 264330745329

Option 2 ID : 264330745328

Option 3 ID : 264330745326

Option 4 ID : 264330745327

Status : Answered
Chosen Option : 2
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Q.6  Six friends A. B, C. D. E. and T are sitting around a circular table facing away from the center. A is sitting to the
immediate right of B. F sits exactly between C and D. D zits to the immediate left of E. Who sits to the immediate right
of E?
Ans X 1. D
¥2 B
X3 A
X4 C
Question ID : 264330192316
Option 1 1D : 264330752620
Option 2 ID : 264330752621
Option 3 ID : 264330752618
Option 4 ID : 264330752619
Status : Answered
Chosen Option : 2
Q.7  Select the correet mirror image of the given figure when the mirror MN is placed to the right side of the figure.
Ans
Question ID : 264330191586
Option 1 1D : 264330749701
Option 2 ID : 264330749700
Option 3 ID : 264330749699
Option 4 ID : 264330749698
Status : Answered
Chosen Option : 3
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Q8 A paper is folded and cut as shown below. How will it appear when unfolded?

s A
/ ~ 7 ~
r
¢ O I
>
N |
N L7 N L7
\/ \J’

o 1.

<
<
%
&/

Question ID : 264330192387
Option 1 1D : 264330752903
Option 2 ID : 264330752905
Option 3 ID : 264330752902
Option 4 ID : 264330752904
Status : Answered
Chosen Option : 1

Q.9 A series is given with one term missing. Select the correct alternative from the given ones that will complete the series,
TM. JQ. NG, DK, ?
Ans o1 HA
X 2. HM
X3 HX
X 4 HB

Question ID : 264330188019
Option 11D : 264330736006
Option 2 ID : 264330736005
Option 3 ID : 264330736004
Option 4 ID : 264330736007
Status : Answered
Chosen Option : 1




www.prepp.in

Q.10 By Interchanging the given two numbers which of the following equation will be not correct?

4 and 6

Ans 1 6+2+4x3=24
X2 4-6+8=10
X3 6+4x2-5=11
X4 6+4x8-7=45

Question ID : 264330191561
Option 11D : 264330749601
Option 2 ID : 264330749600
Option 3 ID : 264330749599
Option 4 ID : 264330749598
Status : Answered
Chosen Option : 4
Q.11 Inacerain code language, if NATURE is coded as ERUTAN' and CIRCLE is coded as 'ELCRIC. then what will
DANGER be coded as?
Ans 1. REGNAD
& 2. RENGAD
X 3. RENAGD
X 4 REGNDA
Question ID : 264330192234
Option 1 ID : 264330752293
Option 2 ID : 264330752290
Option 3 ID : 264330752291
Option 4 ID : 264330752292
Status : Answered
Chosen Option : 1
Q.12 Which of the following groups of letters when sequentially placed from left to right will complete the given series?
s_tuuvvsstiuuvysst_u_vvsstiuuvvsstiun_ v
Ans X 1. uvst
X 2. ssuu
X 3. sutv
« 4 stuv
Question ID : 264330190208
Option 1 ID : 264330744415
Option 2 ID : 264330744416
Option 3 ID : 264330744417
Option 4 ID : 264330744414
Status : Answered
Chosen Option : 4
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Chosen Option :

Q13 1p the following question, select the missing number from the given series.
1000, 968, 935, 901, 866, ?
Ans 1. 830
X 2 832
X 3 835
X 4 840
Question ID : 264330187410
Option 1 ID : 264330733568
Option 2 ID : 264330733570
Option 3 ID : 264330733571
Option 4 ID : 264330733569
Status : Answered
Chosen Option : 1
Q.14 1na certain code language. if ADDITION is codad as 84 . SUBTRACTION is coded as 153, then what will
DIVISION be coded as?
Ans X' 1. 122
X2 96
3. 109
X4 147
Question ID : 264330192074
Option 1 ID : 264330751652
Option 2 ID : 264330751650
Option 3 ID : 264330751651
Option 4 ID : 264330751653
Status : Answered
Chosen Option : 3
Q.15 1In the following question balow are given some statements followed by some conclusions based on those statemants.
Taking the given statements to be time even if they seem to be at variance from commonly known facts. Read all the
conclusions and then decide which of the given conclusion (s) logically follows the given statements.
Statements:
L Some M are Z.
ILNoZisR.
Conclusions:
LAllMare R
T AllRare Z.
II1. Some M are not R.
Ans 7 1. Only conclusion III follows
X 2. Only conclusion II follows
A 3. Both conclusions IT and III follows
X 4. All conclusion follows
Question ID : 264330188029
Option 1 ID : 264330736047
Option 2 ID : 264330736044
Option 3 ID : 264330736046
Option 4 ID : 264330736045
Status : Answered

1
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Q.16 Two positions of a dice are given below. What will come on the face opposite to the face containing *1" on it?
X1 6

2 4
X35
X4 3

Ans

Question ID : 264330191565
Option 1 ID : 264330749617
Option 2 ID : 264330749616
Option 3 ID : 264330749614
Option 4 ID : 264330749615
Status : Answered
Chosen Option : 3

QA7 In the following question. select the related letters from the given alternatives.
IX:IU:AB: ?
Ans X 1. MF
2. ZY
X 3. ON
x4 01

Question ID : 264330187382
Option 1 ID : 264330733459
Option 2 ID : 264330733456
Option 3 ID : 264330733457
Option 4 ID : 264330733458
Status : Answered
Chosen Option : 2

Q.18 1n the following question, select the related letter pair from the given alternatives.
SUS:NPN:?
Ans 1 ZQY : ULT
X2 VZA:ZXV
X3 AAG:TWD
X 4. OPQ:ZAA

Question ID : 264330187083
Option 1 1D : 264330732260
Option 2 ID : 264330732263
Option 3 ID : 264330732262
Option 4 ID : 264330732261

Status : Not Attempted and
" Marked For Review

Chosen Option : --
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50, 53, 62, 89, 2. 413

Q19 1p the following question, select the missing number from the given series.

Chosen Option :

Ans 1. 170
X< 2 180
X3 175
<4 184
Question ID : 264330190559
Option 11D : 264330745818
Option 2 ID : 264330745819
Option 3 ID : 264330745821
Option 4 ID : 264330745820
Status : Answered
Chosen Option : 1
Q20 If75A30B50C 10=40and 60 A20B80C 16=35,then 60 A 15B45C5="
Ans 1. 36
X 2. 40
<3 35
x4 37
Question ID : 264330187153
Option 1 ID : 264330732543
Option 2 ID : 264330732542
Option 3 ID : 264330732540
Option 4 ID : 264330732541
Status : Answered
Chosen Option : 1
Section : Part-B-General Knowledge and General awareness
Q1 Which of the following personalities is associated with the Sarvodaya Plan of 19507
Ans X 1. G.D. Birla
« 2. Jayaprakash Narayan
X 3. Jawaharlal Nehru
X 4. P C Mahalanobis
Question ID : 264330191025
Option 1 ID : 264330747457
Option 2 ID : 264330747454
Option 3 ID : 264330747456
Option 4 ID : 264330747455
Status : Not Answered
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Q.2 In which year was the Lucknow Pact signed between Congress and Muslim League?

Chosen Option :

Ans X 1. 1936
X 21926
« 3 1916
X 41906
Question ID : 264330191217
Option 1 ID : 264330748225
Option 2 ID : 264330748224
Option 3 ID : 264330748223
Option 4 ID : 264330748222
Status : Answered
Chosen Option : 4
Q3 YWhich sport is associated with ““Allan Border Medal™?
Ans 1. Cricket
X 2. Polo
X 3. Hockey
X 4. Football
Question ID : 264330191902
Option 11D : 264330750963
Option 2 ID : 264330750964
Option 3 ID : 264330750965
Option 4 ID : 264330750962
Status : Answered
Chosen Option : 2
Q.4  Which of the following is the tenure of the Comptroller and Auditor General (CAG) of India?
Ans 1. 6 years
X 2. 7 years
X 3. 5 years
X 4. 4 years
Question ID : 264330191941
Option 1 1D : 264330751120
Option 2 ID : 264330751121
Option 3 ID : 264330751119
Option 4 ID : 264330751118
Status : Answered

1
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Q.5 InMay 2023, Justice Prashant Kumar Mishra and senior advocate KV Viswanathan were be sworn in as
judges.
Ans X 1. Civil court
« 2. Supreme Court
X 3. High Court
X 4. Consumer Court
Question ID : 264330191875
Option 1 ID : 264330750856
Option 2 ID : 264330750854
Option 3 ID : 264330750855
Option 4 ID : 264330750857
Status : Not Answered
Chosen Option : --
Q.6 Who was appointed as the Chairman of Senior Men's Selection Committes by the Board of Control for Cricket in India
(BCCT) in Tuly 20237
Ans X 1. Ramesh Powar
X 2. Rahul Dravid
« 3. Ajit Agarkar
X 4. VV.S. Laxman
Question ID : 264330190768
Option 1 ID : 264330746428
Option 2 ID : 264330746427
Option 3 ID : 264330746429
Option 4 ID : 264330746426
Status : Not Answered
Chosen Option : --
Q.7 Which age group is typically considered as the working-age population in India?
Ans X 1. 20-64 years
X 2. 16-65 years
X 3. 18-64 years
o 4. 15-59 years
Question ID : 264330190873
Option 1 ID : 264330746848
Option 2 ID : 264330746849
Option 3 ID : 264330746847
Option 4 ID : 264330746846
. Not Attempted and
Status : Marked For Review
Chosen Option : --
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Q8 Who of the following popularize folk dances ‘Rai’?

Ans X 1. Maharaj Bindadin
+ 2. Ram Sahay Pandey
X 3. Kalkaprasad
X 4. Achhan Maharaj

Question ID :
Option 11D :

Option 2 ID

Option 4 ID

264330190798
264330746547

: 264330746549
Option 31D :

264330746548

1264330746546
Status :
Chosen Option :

Not Answered

Q.9 The Government of India aims to offer affordable housing to urban residents by 2022 through

program,
which was first introduced on June 25, 2015,
Ans X 1. Jal Jeevan Yojana
X 2. Meri Policy Mere Hath
+ 3. Pradhan Mantri Awas Yojana (PMAY)
X 4. Rashtriya Uchchatar Shiksha Abhivan
Question ID : 264330191813
Option 1 1D : 264330750609
Option 2 ID : 264330750607
Option 3 ID : 264330750606
Option 4 1D : 264330750608
Status : Answered
Chosen Option : 3
10 . 4 \ . . . .
@10 Which of the following festivals is mainly associated with Assam?
Ans X 1. Teej
+ 2. Bilm
X 3. Chhath
< 4. Onam
Question ID : 264330190571
Option 1 1D : 264330745866
Option 2 ID : 264330745869
Option 3 ID : 264330745867
Option 4 ID : 264330745868
Status : Answered
Chosen Option : 2
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Q.11  Oun July 27, 2023, Prime Minister Narendra Modi released installment of PM-EISAN of about Rs. 17,000
crores to more than 8.5 crore beneficiaries.
Ans 1. 14th
X 2. 12th
X 3. 16th
X 4. 18th
Question ID : 264330188834
Option 11D : 264330739139
Option 2 ID : 264330739138
Option 3 ID : 264330739140
Option 4 ID : 264330739141
Status : Not Answered
Chosen Option : --
Q12 WWhich sport is plaved by the Indian sportsperson P. R. Sreejesh?
Ans 1. Hockey
X 2. Badminton
X 3. Football
X 4. Cricket
Question ID : 264330188887
Option 1 1D : 264330739352
Option 2 ID : 264330739353
Option 3 ID : 264330739351
Option 4 ID : 264330739350
Status : Not Answered
Chosen Option : --
Q13 11 India, APEDA stands for:
Ans X 1.
Agricultural and Processed Food Products Import Development Authority
x 2.
Agricultural and Processed Food material Export Development Authority
X 3.
Agricultural and Pure Food Products Export Development Authority
o 4.
Agricultural and Processed Food Products Export Development Authority
Question ID : 264330191767
Option 1 1D : 264330750424
Option 2 ID : 264330750425
Option 3 ID : 264330750422
Option 4 ID : 264330750423
Status : Answered
Chosen Option : 2
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Q.14 Which of the following statements given below are correct?
Statement |: Directive Principles of State Policy (DPSP) is not enforceable by law.
Statement 2: Directive Principles of State Policy (DPSP) is non-justiciable.

Ans X 1. Statement 1 is not correct and Statement 2 is correct.

X 2. Statement | is correct and Statement 2 is not correct.
" 3. Statement | and Statement 2 both are correct.
X 4. Statement | and Statement 2 both are not correct.

Option 3 ID

Status

Question ID :
Option 11D :
Option 21D :
Option 4 ID :

Chosen Option :

264330191880
264330750876
264330750875
1264330750874
264330750877
: Not Answered

Q.15 The Gupta Empire is often referred to as the "Golden Age of India." Which field of knowledge saw significant
advancements during this period?

Ans X 1. Matriarchy
X 2. Gender equality
+ 3. Science, art, literature

X 4. Feminism

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330191716
264330750218
264330750221
264330750220
264330750219
Not Answered

Q.16 Which state's goverment introduced the Gyan Sahayak Scheme in July, aiming at addressing teacher vacancies in
government schools through contractual appointments?

X 1. Andhra Pradesh
X 2. Maharashtra
« 3. Gujarat

A 4. Assam

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330191208
264330748187
264330748186
264330748189
264330748188
Not Answered
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Ans X 1. Foreign investors

« 2. Low-income individuals and small businesses

X 3. Government agencies

X 4. Large corporations

Q.17 The concept of microfinance is primarily aimed at providing financial services to:

Question ID :

Option 1 ID

Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330190944
1264330747131
264330747130
264330747132
264330747133
Not Answered

Q.18 The Santosh Trophy is named after Sir

Ans X 1. Santosh Nath Roy Chowdhury
X 2. Devendru Roy Chowdhury
« 3. Manmatha Nath Roy Chowdhury
X 4. Manek Nath Roy Chowdhury

. a legendary figure in Indian football.

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330191464
264330749211
264330749213
264330749210
264330749212
Answered

1

Ans X 1. Tamil Nadu
X 2. West Bengal

+ 3. Himachal Pradesh
X 4. Karnataka

Q.19 To which of the following states of India does the dance form Mahasu belong?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330192031
264330751479
264330751481
264330751480
264330751478
Answered

3
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Q.20

Ans

is a legendary sitar player and one of India's most esteemed classical musicians.

X 1. Ustad Zakir Hussain
+ 2. Pandit Ravi Shankar
X 3. Ustad Bismillah Khan
X 4. Pandit Bhimsen Joshi

Question ID : 264330191798
Option 1 ID : 264330750548
Option 2 ID : 264330750546
Option 3 ID : 264330750549
Option 4 ID : 264330750547
Status : Answered
Chosen Option : 3
Section : Part-C-Elementary Mathematics
Q.1  The price of a table is firstly decreased by 30 percent and then increased by S0 percent. What is the percentage increase
in the price of table?
Ans X 1. 24 percent
X 2. 50 percent
X 3. 25 percent
« 4. 26 percent
Question ID : 264330190354
Option 1 ID : 264330744999
Option 2 ID : 264330745001
Option 3 ID : 264330745000
Option 4 ID : 264330744998
Status : Answered
Chosen Option : 4
Q.2 Sakshican do a piece of work in 20 days. Tanya is 25% more efficient than Salshi. The oumber of days taken by Tanya
to do the same piece of wark is
Ans X 1. 13 days
X 2. 18 days
X 3. 11 days
« 4. 16 days
Question ID : 264330188529
Option 11D : 264330737920
Option 2 ID : 264330737919
Option 3 ID : 264330737918
Option 4 ID : 264330737921
Status : Answered
Chosen Option : 4
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Q3 Ifa:b=12:5b:c=15: 16, and c: d=4: 7 then find a: c.
Ans 1 0:4

X2 4.7

X3 7:3

K4 4.9

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330191660
264330749995
264330749994
264330749996
264330749997
Answered

1

Q4 What is the value of 24 + (23 x 32 +4)— 5 = 8?
Ans 1. 168

X2 132

X3 114

X 4176

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330187179
264330732646
264330732645
264330732644
264330732647
Answered

1

annually) at the same rate of interest. What is the annual rate of interest?

Ans X 1. 48 percent

X 2. 45 percent
X 3. 40 percent
« 4. 35 percent

Q.5 Asumamounts to Rs. 2700 in | years and amounts to Rs. 3645 in 2 years on compound inferest (compounding

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330187574
264330734227
264330734226
264330734224
264330734225
Not Answered
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Ans 1. 42 years

Q.6  Average age of a group of 27 bovs is 27 vears. A boy having age 20 years leaves the group. A new boy joins the group
and the average increases by | year. What is the age of the new boy?

X 2. 46 years
X 3. 45 years
4. 47 years
Question ID : 264330187963
Option 1 ID : 264330735780
Option 2 ID : 264330735781
Option 3 ID : 264330735783
Option 4 ID : 264330735782
Status : Answered
Chosen Option : 4
Q.7  The ratio of three mumbers is 3 : 3 ; 7 and the sum of their square is 1328, What is the value of the largest of the three
mmbers?
Ans X112
W2 28
X3 20
X4 16
Question ID : 264330187532
Option 1 ID : 264330734058
Option 2 ID : 264330734056
Option 3 ID : 264330734057
Option 4 ID : 264330734059
Status : Answered
Chosen Option : 2
Q.8 What will ba the grearest four digit number which can be completely divided by 15, 20,25 and 307
Ans 1. 9900
X 2. 9300
« 39930
X 4. 9700
Question ID : 264330192471
Option 1 ID : 264330753238
Option 2 ID : 264330753239
Option 3 ID : 264330753240
Option 4 ID : 264330753241
Status : Answered
Chosen Option : 2
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Chosen Option :

Q.9 Average of 30 ohservations is 58. Average of first 14 observations is 59. Average of last 17 observations iz 55. What iz
the vatue of 141 observation?
Ans X' 1 29
X2 22
X3 25
4 21
Question ID : 264330187604
Option 1 ID : 264330734345
Option 2 ID : 264330734347
Option 3 ID : 264330734344
Option 4 ID : 264330734346
Status : Answered
Chosen Option : 4
Q10 A is 20 percent more than B.B is how much percentage less than A (approximately)?
Ans X 1. 18.5 percent
+ 2. 16.6 percent
X 3. 12.5 percent
& 4. 15 percent
Question ID : 264330187925
Option 1 ID : 264330735631
Option 2 ID : 264330735630
Option 3 ID : 264330735628
Option 4 ID : 264330735629
Status : Answered
Chosen Option : 2
Q.11  Aman and Raman together can do a work in 7.5 davs. Raman and Gagan together can do the same work in 10 days.
Gagan and Aman together can do the same worlk in 20 dayvs. In how many days can Gagan alone do the same work?
Ans X 1. 190 days
X 2. 150 days
X 3. 240 days
« 4. 120 days
Question ID : 264330187697
Option 11D : 264330734718
Option 2 ID : 264330734716
Option 3 ID : 264330734719
Option 4 ID : 264330734717
Status : Not Answered
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Q12 yhat is the value of L00 —9 of (4 x 3+ 17 —25)?

Chosen Option :

Ans X 1. 34
2 64
X3 54
X4 76
Question ID : 264330187920
Option 1 ID : 264330735608
Option 2 ID : 264330735610
Option 3 ID : 264330735609
Option 4 ID : 264330735611
Status : Answered
Chosen Option : 2
Q.13 A person walks at a speed of 4 lan'h for the first 3 hours and then at 6 kun'h for the next 2 hours. What is the total
distance covered?
Ans 1. 24 km
X 220 km
X3 18 km
X 4 22km
Question ID : 264330191183
Option 1 ID : 264330748086
Option 2 ID : 264330748089
Option 3 ID : 264330748088
Option 4 ID : 264330748087
Status : Answered
Chosen Option : 2
Q.14 Two successive discounts of 23 percent and 20 percent are given by Raman on a pen. If the marked price of the pen is
Rs. 880, then what is the value of discount?
Ans X 1. Rs. 380
X 2. Rs. 376
¥ 3. Rs. 352
X 4. Rs. 362
Question ID : 264330187670
Option 1 1D : 264330734611
Option 2 ID : 264330734610
Option 3 ID : 264330734608
Option 4 ID : 264330734609
Status : Not Answered
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Ans

+ 1. Rs. 900
X 2. Rs. 800
< 3. Rs. 850
X 4. Rs. 950

Q.15 Asellsa bieyele 1o B at a profit of 30 percent and B sells it 1o C at a profit of 10 percent. If C pays Rs. 1287 for the
bicycle, then what was the cost price of bicycle for A?

Question ID :
Option 11D :
1264330737969
Option 31D :
1264330737968

Status :
Chosen Option :

Option 2 ID

Option 4 ID

264330188541
264330737967

264330737966

Not Answered

Ans

X 1. Rs. 8500
X 2. Rs. 8230
+ 3. Rs. 8650
X 4. Rs. 9560

Q.16 Selling price of a chair is Rs. 5709. If loss percentage is 34 percent. then what is the cost price of chair?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330187767
264330734996
264330734999
264330734997
264330734998
Not Answered

Ans

X 2. 9.84 percent
X 3. 11.78 percent
X 4. 9.88 percent

Q.17 1Ifa certain sum of money becomes double of itself in 9 vears 5 months ar simple interest, then what will be the annual
rate of interest?

+ 1. 10.62 percent

Question ID :
Option 11D :
Option 21D :
1264330734860
Option 4 ID :
: Not Answered
Chosen Option :

Option 3 ID

Status

264330187733
264330734862
264330734863

264330734861
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Q.18 Selling price of an article is Rs. 1184 and discount of 26 percent is offered. What is the marked price of the article?

Chosen Option :

Ans X' 1. Rs. 1200
« 2. Rs. 1600
# 3. Rs. 1800
X 4. Rs. 1500
Question ID : 264330187309
Option 1 ID : 264330733166
Option 2 ID : 264330733164
Option 3 ID : 264330733167
Option 4 ID : 264330733165
Status : Not Answered
Chosen Option : --
Q.19 ;
What is the value a::af{{}.f.}2 + [0.1]3‘?
Ans X 1. 0.087
X2 0.072
X 3. 0.082
¥ 4 0,091
Question ID : 264330188614
Option 1 ID : 264330738260
Option 2 ID : 264330738261
Option 3 ID : 264330738259
Option 4 ID : 264330738258
Status : Answered
Chosen Option : 4
Q.20 1f the ratio of volume of two cubes is 125 : 216. then what is the ratio of the sides of the rwo cubes?
Ans X 1. 0:11
X2 4:7
X37:9
4 5.6
Question ID : 264330190106
Option 1 ID : 264330744008
Option 2 ID : 264330744007
Option 3 ID : 264330744006
Option 4 ID : 264330744009
Status : Not Answered

Section : Part-D-English
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Chosen Option :

Q1 Select the incorrectly spelt word from the given sentence.
It’s one thing to adress, and another thing to inundate students with information.
Ans X 1. inundate
+ 2. adress
X 3. students
A 4. information
Question ID : 264330186336
Option 1 ID : 264330729573
Option 2 ID : 264330729572
Option 3 ID : 264330729574
Option 4 ID : 264330729575
Status : Not Answered
Chosen Option : --
Q2 gelect the most appropriate option for the given blank.
Sunaina, please the door.
Ans X 1. dao
& 2. answer
X 3. awaken
X 4. have
Question ID : 264330186106
Option 1 ID : 264330728696
Option 2 ID : 264330728698
Option 3 ID : 264330728697
Option 4 ID : 264330728699
Status : Not Answered
Chosen Option : --
Q.3 Find the part of the given sentence that has an error in it. If there is no error, choose *No error’.
Students in class B are much quiet than students in class C.
Ans 1. much quiet than
X 2. students in class C.
X 3. No error
A 4. Students in class B are
Question ID : 264330186045
Option 11D : 264330728465
Option 2 ID : 264330728466
Option 3 ID : 264330728467
Option 4 ID : 264330728464
Status : Not Answered
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Ans

cormect.

The eat is aitting at the window, gaze at the mouse.

X 1. gazes at
+ 2. gazing at

X 3. No improvement

Q.4 Improve the underlined part of the sentence. Choose ‘No improvement” as an answer if the sentence is grammatically

Chosen Option :

X 4. gazed at
Question ID : 264330185585
Option 1 ID : 264330726712
Option 2 ID : 264330726713
Option 3 ID : 264330726715
Option 4 ID : 264330726714
Status : Not Answered
Chosen Option : --
Q.5 Improve the nnderlined part of the sentence. Choose *No improvement® as an answer if the sentence is grammatically
correct.
After the sale, the store's shelves s almost bare.
Ans X 1. No improvement
+ 2. shelves were
X 3. shelf were
X 4. shelves was
Question ID : 264330185648
Option 1 ID : 264330726955
Option 2 ID : 264330726953
Option 3 ID : 264330726952
Option 4 ID : 264330726954
Status : Not Answered
Chosen Option : --
Q.6 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
She were very happy that soon she would be very rich.
Ans X 1. No error
+ 2. She were very
X 3. happy that soon she
X 4. would be very rich.
Question ID : 264330185771
Option 1 ID : 264330727423
Option 2 ID : 264330727420
Option 3 ID : 264330727421
Option 4 ID : 264330727422
Status : Not Answered
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Q7 Select the sentence with no spelling errors.

Ans X 1.
This protocol opens meriad opportunities for novel dignostic tools and practical applications.
o 2.
This protocol opens myriad opportunities for novel diagnostic tools and practical applications.
X 3.
This protocol opens myriad opportunities for novel diegnostic tools and practical applications.
X 4.
This protocol opens myriad opportuniteis for novel diagnostic tools and practical applications.
Question ID : 264330185853
Option 11D : 264330727734
Option 2 ID : 264330727732
Option 3 ID : 264330727735
Option 4 ID : 264330727733
Status : Not Answered
Chosen Option : --
Q.8 Identify the segment that conrains a grammatical ecror, If there is ho error. select No error',
T had sadly broken sleep when T gotten to bed, / through thinking of the strange man / taking aim at me with his invisible
gun.
Ans 1. 1 had sadly broken sleep when I gotten to bed.,
X 2. No error
X 3. taking aim at me with his invisible gun.
X 4. through thinking of the strange man
Question ID : 264330186530
Option 1 1D : 264330730312
Option 2 ID : 264330730315
Option 3 ID : 264330730314
Option 4 ID : 264330730313
Status : Not Answered
Chosen Option : --
Q.9 Inthe following question, our of the given four alternarives, select the alternative which best expresses the meaning of
the 1diom/Phrase,
An Achilles heel
Ans X 1. A difficult task
X 2. A person who tasted failure for the first time
« 3. A weak point or fault in someone's character
X 4. An old ankle pain
Question ID : 264330186733
Option 11D : 264330731084
Option 2 ID : 264330731086
Option 3 ID : 264330731087
Option 4 ID : 264330731085
Status : Not Answered
Chosen Option : --
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Q.10 Choose the idiom/phrase that can substitute the highlighted group of words meaningfully.
Raghu cannot decide whether to divoree his wifs or not. He is at a point in life where his decisions will have long
TETI CONSEqUENCES.
Ans X 1. Tongue And Cheek
+ 2. At a crossroads
X 3. Make No Bones About
X 4. Spill the beans
Question ID : 264330185851
Option 1 ID : 264330727724
Option 2 ID : 264330727727
Option 3 ID : 264330727726
Option 4 ID : 264330727725
Status : Not Answered
Chosen Option : --
Q1 Choose the word that is opposite in meaning to the given word.
Armed
Ans X 1. Delayed
« 2. Deprived
X 3. Denied
X 4. Distorted
Question ID : 264330186163
Option 1 ID : 264330728915
Option 2 ID : 264330728912
Option 3 ID : 264330728913
Option 4 ID : 264330728914
Status : Not Answered
Chosen Option : --
@12 Choose the word that means the same as the given word.
Validate
Ans X 1. Conjoin
X 2. Collision
+ 3. Confirm
X 4. Corrupt
Question ID : 264330186226
Option 1 ID : 264330729152
Option 2 ID : 264330729155
Option 3 ID : 264330729153
Option 4 ID : 264330729154
Status : Not Answered
Chosen Option : --
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Q.13  Select the word segmenr thar subatitutes (replaces) the brackered word segment correctly and completes the sentence
meaningfully. Select the option 'no corrsction required' if the sentence is cotrsct as given,

(Several curions small) circumstances transpired as the action proceeded.

Ans X 1. Many some curious small
+ 2. Several curious little
X 3. No correction required
X 4. Definite curious small
Question ID : 264330186574
Option 1 ID : 264330730480
Option 2 ID : 264330730481
Option 3 ID : 264330730483
Option 4 ID : 264330730482
Status : Not Answered
Chosen Option : --
Q.14 Choose the option which is antonym of (opposite of) the word "contrite" in the sentence given below:
She was taken aback by his hurtful words, wondering why he would choose to speak so unkindly.
Ans X 1. unkindly
X 2. wondering
X 3. aback
« 4 hurtful
Question ID : 264330186438
Option 11D : 264330729963
Option 2 ID : 264330729962
Option 3 ID : 264330729960
Option 4 ID : 264330729961
Status : Not Answered
Chosen Option : --
Q.15 Improve the nnderlined part of the sentence. Choose “No improvement” as an answer if the sentence is grammatically
corract.
Earlier T was very poors in these subjects.
Ans X 1. very pored
X 2. No improvement
o 3. Vely poor
X 4. few poorer
Question ID : 264330185649
Option 11D : 264330726958
Option 2 ID : 264330726959
Option 3 ID : 264330726957
Option 4 ID : 264330726956
Status : Not Answered
Chosen Option : --
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Comprehension:

Read the passage carefilly and select the correct answer for the given blanks our of the four alternarives.

The history of sillt manufacturing can be (1] back to the Neolithic Age when people discovered that silk was
(4] by insects, However, it is not certain exactly when this discovery was (3) . Silkworm eggs were first
discovered in China about 5,000 years ago. The Chinese emperor Huang Ti ordered (4) to plant mulberry trees

50 that the larvae could feed (3) them and produce silkworms, In 2000 B.C.. silk was already being used for
making clothing.

SubQuestion No : 16

Q16 Select the most appropriate option for blank(1)

Chosen Option :

Ans X 1. hauled
+ 2. traced
X 3. saw
X 4. raced
Question ID : 264330186073
Option 1 1D : 264330728570
Option 2 ID : 264330728569
Option 3 ID : 264330728568
Option 4 ID : 264330728571
Status : Not Answered
Chosen Option : --
Comprehension:
Read the passage carefully and select the correct answer for the given blanks our of the four alternatives.
The history of silk manufacturing can be (1) back to the Neolithic Age when people discovered that silk was
(4] by insects, However, it is not certain exactly when this discovery was (3) . Silkworm eggs were first
discovered in China about 5,000 years ago. The Chinese emperor Huang Ti ordered (4) to plant mulberry trees
50 that the larvae could feed (3) them and produce silkworms, In 2000 B.C.. silk was already being used for
making clothing.
SubQuestion No : 17
Q17 Select the most appropriate option for blank(2)
Ans X 1. planted
X 2. abandoned
X 3. turned
« 4. produced
Question ID : 264330186074
Option 11D : 264330728573
Option 2 ID : 264330728575
Option 3 ID : 264330728572
Option 4 ID : 264330728574
Status : Not Answered
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Comprehension:

Read the passage carefilly and select the correct answer for the given blanks our of the four alternarives.

The history of sillt manufacturing can be (1] back to the Neolithic Age when people discovered that silk was
(4] by insects, However, it is not certain exactly when this discovery was (3) . Silkworm eggs were first
discovered in China about 5,000 years ago. The Chinese emperor Huang Ti ordered (4) to plant mulberry trees
50 that the larvae could feed (3) them and produce silkworms, In 2000 B.C.. silk was already being used for
making clothing.

SubQuestion No : 18

Q18 Select the most appropriate option for blank(3)

Ans X 1. coerced
+ 2. made
X 3. baked
X 4. tailed
Question ID : 264330186075
Option 11D : 264330728578
Option 2 ID : 264330728577
Option 3 ID : 264330728576
Option 4 ID : 264330728579
Status : Not Answered
Chosen Option : --
Comprehension:
Read the passage carefilly and select the correct answer for the given blanks our of the four alternatives.
The history of sillt manufacturing can be (1] back to the Neolithic Age when people discovered that silk was
2) by insects. However, it is not certain exactly when this discovery was (3) . Silkworm eggs were first
discovered in China about 5,000 years ago. The Chinese emperor Huang Ti ordered (4) to plant mulberry trees
50 that the larvae could feed (3) them and produce silkworms, In 2000 B.C.. silk was already being used for
making clothing.
SubQuestion No : 19
Q19 Select the most appropriate option for blank(4)
Ans X 1. nurses
X 2. soldiers
X 3. teachers
+ 4. farmers
Question ID : 264330186076
Option 11D : 264330728580
Option 2 ID : 264330728583
Option 3 ID : 264330728581
Option 4 ID : 264330728582
Status : Not Answered
Chosen Option : --
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Comprehension:

Read the passage carefilly and select the correct answer for the given blanks our of the four alternarives.

The history of sillt manufacturing can be (1] back to the Neolithic Age when people discovered that silk was

3] by insects, However, it is not certain exactly when this discovery was (3)
discovered in China about 5,000 years ago. The Chinese emperor Huang Ti ordered (4)

. Silkworm eggs were first
to plant nmlberry trees

50 that the larvae could feed (3) thems and produce silkworms, In 2000 B.C., silk was already being used for

making clothing.

SubQuestion No : 20
Q20 gSelect the most appropriate option for blank(5)

Ans x 1. b}'
X2 in
X 3. at
w4 on
Question ID : 264330186077
Option 1 ID : 264330728587
Option 2 ID : 264330728585
Option 3 ID : 264330728586
Option 4 ID : 264330728584
Status : Not Answered
Chosen Option : --
Section : Part-D-Hindi
Q1 FffET v &, B 7v 91 Reer § 9, 37 R &1 T3 F S RE v gy F T
TESS ®T § HFT FAT B
HTE HE=T
Ans X 1. freaag &
X 2. Gg FHET T
3 ] a
w3 gl g
X 4. gfST AT
Question ID : 264330192824
Option 1 ID : 264330754648
Option 2 ID : 264330754647
Option 3 ID : 264330754646
Option 4 ID : 264330754649
Status : Answered
Chosen Option : 3
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92 f2U Y S &1 GuigaE §1d S|

BEEIRS
Ans w1 ST

X 2. gdd
K3 H
X 4 pUY

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status

Chosen Option :

264330189006
264330739811
264330739812
264330739810
264330739813

: Answered

1

&l
AT F 3IEE

ANS i S
X2 gamy
X3 Zer
X 4 QMeFd

Q3 T v &, 97 Reedt & @, 37 T ReeT &7 997 ¢ = gt § Bv v g & @

Question ID :
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID
Status :

Chosen Option :

264330189592
264330742045

1 264330742044

264330742043

1 264330742042

Answered
1

T 1 STolt @

X 1. Deifbd Bl

X 2. geerHgect

¢ 3 O &l URAIE 7 BT
x4 gicgT, Aaiar e @il

Ans

Q4 fgfaRed vy ¥, 9R fawel ¥ 9, 39 A% &1 997 ¥ off AU U gera’ &1 3fad o aren g1

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330189934
264330743346
264330743349
264330743347
264330743348
Answered

3
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T ¥ 28 &= & feohe amae & |

Q5 Lo v geT & ST o= F BT TE uwer e BeeT F gue

Chosen Option :

Al
" X1 USd ¥ gF 9N & Te e g v
X2 ST ¥ 0 g9IR & Tepe a9 @ 15|
3 T ¥ &8 g1 & e Tmag g a7y
X 4 qfyadel & HEFTHaT Far gl
Question ID : 264330188290
Option 1 ID : 264330737054
Option 2 ID : 264330737052
Option 3 ID : 264330737053
Option 4 ID : 264330737055
Status : Answered
Chosen Option : 3
Q.6 : :
T arv = @1 I7 s A W, e #5 fe 2
ﬁmmmmmm%mm@ﬁtml
Ans v i e sl
X 2. 9y #TEY EEG|
X3 g AT
X 4 3IAF AT 3H
Question ID : 264330192809
Option 1 ID : 264330754590
Option 2 ID : 264330754592
Option 3 ID : 264330754593
Option 4 ID : 264330754591
Status : Answered
Chosen Option : 1
Q.7 .
fT 770 919y | Eifcha 2eg & [AAH 2Ieg 10 HIE |
04t 3T B
LUCHE % [l
v 2 ISR
x 3 dig
X 4. 3@
Question ID : 264330189323
Option 1 ID : 264330741020
Option 2 ID : 264330741021
Option 3 ID : 264330741019
Option 4 ID : 264330741018
Status : Answered

2
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Ans

X 1. e
X 2. 3BT
V3 Aol
K4 FTRrERT

Q.8 fr=fafee woa &, a7 et # ¥, 37 ey &7 707 F¥ =t Fvas & By 7w g ¥ BEw we
& TE e &

3% Y W g = (R fems & @ o

Question ID

Option 2 ID

Option 4 ID

1264330189744
Option 11D :

264330742625

1264330742622
Option 31D :

264330742623

1264330742624
Status :
Chosen Option :

Not Answered

* Ruu e # 9 efgg g ae [Abed Bl 9 B
MK R AN Y FE R AR

X 2 = UToll 1 Sffed g g

X 3 H IR R Y &1 el HRall

¢ TR IR B = S AHHR |

Chosen Option

Question ID : 264330189411
Option 1 ID : 264330741355
Option 2 ID : 264330741356
Option 3 ID : 264330741354
Option 4 ID : 264330741357
Status : Answered
Chosen Option : 4
Q10 fmfdfad wy & 9r fbedl 9, 39 by & 9o &3 o R @i & e 9t Yiaarae g1 aen Aeed 8|
Tt iU 7 it forar U1 39 ugd &t g i um
Ans 1 ORTRIO
X2 T
X3 gd
X4 T
Question ID : 264330189709
Option 1 ID : 264330742491
Option 2 ID : 264330742490
Option 3 ID : 264330742492
Option 4 ID : 264330742493
Status : Answered

1
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O 2 TTU Teg &1 FHiaTdt 31 Fifen|

I&

Ans X1 TGS
2 U
X 2
X 4. HHUI
Question ID : 264330189090
Option 1 1D : 264330740133
Option 2 ID : 264330740130
Option 3 ID : 264330740132
Option 4 ID : 264330740131
Status : Answered
Chosen Option : 2
Q12 fag 7o famed! # 9 d fwed T adH1 a1l 8, Wit U SRE 9 ara €1 9 SRlE ao ar faswed &1
T B
Ans .
X 1. gUu H 3 3] fhaHr HgRRT?
X 2 T3 SREER & <l
v 3 7RG & 3l B AR Al TS |
X 4 g% ggl 3 Uel gl
Question ID : 264330189349
Option 1 ID : 264330741118
Option 2 ID : 264330741121
Option 3 ID : 264330741119
Option 4 ID : 264330741120
Status : Answered
Chosen Option : 4
Q.13 .
FafRad a9 | W@ifdd R & Y U e 2se J1d Hifo|
TS Ugd Sl T8 e uet gl |
Ans
o 1. W
X2 qidH
X SR
X 4. q\fﬂ_ﬁ'
Question ID : 264330190012
Option 1 ID : 264330743643
Option 2 ID : 264330743644
Option 3 ID : 264330743642
Option 4 ID : 264330743645
Status : Answered
Chosen Option : 3
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1 gy are 7 3 ARSI W &1 9 R e ®F 31 g S

AN A RAATR S R

Ans x 1. .ﬁ::FT

v 2. Yugg
X3 feamm
X4 T

Option 1 1D

Question ID :

Option 21D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

264330189140
1 264330740325
264330740324
264330740323
264330740322
Answered

2

Q.15

Ans

feT =Tv Ty & @ifha eeg #T 9oad U AT HifST
33r 3 alg % F

X1 gd
K2 g
Xe ga
o 4. cd
Question ID :
Option 1 ID
Option 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

264330188266

1 264330736961

264330736962
264330736960
264330736963
Answered

4
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Comprehension:

#9 fgu T T A 5 e Bis AU L ¥ SR i Rad viM & IR fiea@ g g sA R T @ s
ey Rad v &1 g &3

R G 3O Sael @F (1) AR T 3 T S e § | G HOe (2)_ Tiee oo gl & [
BT F &1 ¢, [ U 16 98 9 S @RI S € A IS (3) B @l &1 Olfa bl 594 &8
@) ARFEESA el () @ 20 &g o g SagEn W R €

SubQuestion No : 16
O g 1 & oy wew Suged fased &1 95 S|
M 1

2 ST

X3 PN

X4 FIg

Question ID : 264330189209
Option 11D : 264330740585
Option 2 ID : 264330740582
Option 3 ID : 264330740583
Option 4 ID : 264330740584
Status : Answered
Chosen Option : 2

Comprehension:

e fau o e B 9o Wes Bl YT § SR we R i & IR e R E i ekl A G S
famen e W &1 gfd SaT-

IR G oo "aei ol (1) AR T o [0 ST Sl & | i U1 (2)_ g oo &l & g

IBIER B &l ¢, g U 6 981 9= 38 @RI &d & AT 3Hd! (3)___ ¥ @ld 8| oila & 5ad a8
@___ SIREgIuEHd gl (5)___ Bl i IS H 57 S8 W RE €l

SubQuestion No : 17

7 a2 & fow e Suge e o1 a9 S
Ans el Hq\uf

K2 TR
X3 Pae
x4 R4

Question ID : 264330189210
Option 1 ID : 264330740587
Option 2 ID : 264330740589
Option 3 ID : 264330740588
Option 4 ID : 264330740586
Status : Answered
Chosen Option : 1
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Comprehension:

#9 fgu T T A 5 e Bis AU R SR Ude Rad viM & IR fiea@ g B A R T @ e
Aered e wH &1 gfd &a-

R G 3O Sael @F (1) AR T 3 T S e § | G HOe (2)_ Tiee oo gl & [
BT F &1 ¢, [ U 16 98 9 S @RI S € A IS (3) B @l &1 Olfa bl 594 &8
@) ARFEESA el () @ 20 &g o g SagEn W R €

SubQuestion No : 18

" a3 3 o 9o9 Suged faseq o 999 BT
O

X 2 dufg

x5 gl

v 4 QU

Question ID : 264330189211
Option 1 1D : 264330740590
Option 2 ID : 264330740592
Option 3 ID : 264330740591
Option 4 ID : 264330740593
Status : Answered
Chosen Option : 4

Comprehension:

A fu e e A 9w e Blg AU Y ¥ 9k e Rad ©iF & 9R e R ) g7 ari T siF
ey e M @1 Ufd Tl

RA G O S @1 (1) AR T 9 T S e § | G HO (2) Tiee oo gl o [

TR ad g, P FE TG TH SH TN AT ITBI (3)_ BT @d gl oifa &1 5ud g9t
(4)____ SR gl g g1 (5)____ i Siefl &S H g ddgrn i g1

SubQuestion No : 19

" Rads P o 99 Sugad faseq o 999 I

Ans &1 ﬂmﬁ
X 2. TG

X 5. gfae

X4y

Question ID : 264330189212
Option 11D : 264330740595
Option 2 ID : 264330740597
Option 3 ID : 264330740596
Option 4 ID : 264330740594
Status : Answered
Chosen Option : 1
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Ans

Comprehension:

#9 fgu T T A 5 e Bis AU R SR Ude Rad viM & IR fiea@ g B A R T @ e
Aered e wH &1 gfd &a-

RA G SO Sai @l (1) fR T 9 T O e § | G HO (2) TieeT oo gt o [
BT F &1 ¢, [ U 16 98 9 S @RI S € A IS (3) B @l &1 Olfa bl 594 &8
@) ARFEIgsd el () @ 24l &1 o g SagiEn W e 8

SubQuestion No : 20

** Rads P o 9o9 Sugad faseq o 999 BT

v . Thadl
X 2 gt
X 3 fgam

X+ gfaRrd

Status

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

264330189213
264330740599
264330740600
264330740601
264330740598

: Answered
Chosen Option :

1
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